> A
A & 0l & AF 2 E A A
20169 = S0l& LA MK
M HEXH B
Hi: JRMLSH (L2 /HUS)
chelr MEHSTE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=X 20 25,843,457 14,214,411 11,629,046
J| 1,768,488
< 605,074
Al 23,469,895
HsddsL(std2/Hs) 25,763,287 14,134,077 11,629,210
J| 1,768,488
< 605,074
Al 23,389,725
MEHISUE 1,654,900 1,571,908 82,992
J| 368,488
< 71,074
Al 1,215,338
dEaH=s 54 18,308 16,308 2,000
201 et 10,748 8,748 2,000
01 At 22l 10,748 8,748 2,000
O1.4et=2H| 4,700
-HSEE Let=ZH| 2,700,000& 2,700
“ZTHSAL g Lsisg|
2,000,000& 2,000
O5.=2 &l 6,048
FESHE A2ET ZA
7,000 «6H* 122 «12& 6,048
202 OHl 7,560 7,560 0
01 = LH 4 Hi 7,560 7,560 0
OMsdE =0
60,0003 *6H x3 +7 3] 7,560
MEHSII2I(EX) 201,220 201,220 0
< 5,390
Al 195,830
307 21201 A 201,220 201,220 0
< 5,390
Al 195,830
03 QIZtHNHE2HHEX 201,220 201,220 0
Odax=s 2dHXA 201,220,000& 201,220
< 5,390
Al 195,830
MEHSXAEA BIXAS (EX) 307,760 301,680 6,080
J| 122,040
Al 185,720
307 glz2tol & 307,760 301,680 6,080
J| 122,040
Al 185,720
02 IZtE M AHE X 307,760 301,680 6,080
OMEM X S AHEHXI (1 248]) 307,760,000 307,760
J| 122,040




DHSXE Y
PHSMgSd (RS AE/AR)
D MEHET

= _ — d =
SA - B (SA) - MRAY - BYS e 2
| Al 185,720
MEHSRAXA(EX) 111,900 111,900 0
& 17,280
Al 94,620
307 21201 & 111,900 111,900 0
< 17,280
Al 94,620
02 HAHFHYANEEX 111,900 111,900 0
OMeExsna2IRA 111,900, 000& 111,900
S 17,280
Al 94,620
HalugsasiaE(EX) 262,512 228,480 34,032
J| 109,836
Al 152,676
307 glz2tol & 262,512 228,480 34,032
J| 109,836
Al 152,676
02 QIZtE M AHEE 262,512 228,480 34,032
ooz darsesXa (2])
262,512,000& 262,512
J| 109,836
Al 152,676
AXEAXMNOIEHRA(EX) 195,160 195,160 0
J| 136,612
=) 17,564
Al 40,984
301 et a = 195,160 195,160 0
J| 136,612
=) 17,564
Al 40,984
09 &AL HI B A S 195,160 195,160 0
OAx=2x 0l8d XN& 195,160,000& 195,160
J| 136,612
< 17,564
Al 40,984
SXAD BE=2E HEHMSUE XS 60,100 57,400 2,700
301 et a3z 40,500 40,500 0
09 AL HIZB &S 40,500 40,500 0
OEXA S5 dEdsUa ot 40,500
-HEs 20,0003 *30H 158 = 9,000
—AlCH 7,000 <30 +5A8x 158 = 15,750
- sl 20,0003 +«30H 158 = 9,000
-=¢ghy| 15,0003 x30& x 15685 = 6,750
307 gl2tol ™ 19,600 16,900 2,700
04 QIZHHALAIH 2 & 19,600 16,900 2,700




2N
X ZH -
L= B

el

=X 2 ot
Hsdd=H(2sL22/HK)
X

MEHFT

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OEXIAD B=E M=
28,000, 000& *70/100 19,600
Heda MEM=UE &8 ZH XA 22,880 22,000 880
301 Bt A= 22,880 22,000 880
09 HALAHIEA = 22,880 22,000 880
Oooza MeEdsts &8 F| 22,880
A== 50,000& *2004H 10,000
-4 Hi 60,000& x200H 12,000
-JIEt2dgH|(2HA  BE2) 880,000& 880
2E HEAN MEH=U3 #IorEH X3 9,040 9,040 0
301 dEtE A= 9,040 9,040 0]
09 HAIAH EA =S 9,040 9,040 0
O HEdtHa & &EIrd | 9,040
Al 7,000& x20H 54! x50 3 3,500
-ATH 7,000& x20H 24! *3CH 3 840
- EH| 20,0003 *20H *8CH 3 3,200
—-= ghH| 15,000& *20H *50H 3| 1,500
A= MEH=US &I XA 100,000 100,000 0
307 QI2t0| ™ 100,000 100,000 0
04 QI2tSHALAIE E &= 100,000 100,000 0
OHM263 dETUMEHUHE Ot
100,000, 000& 100,000
Lot & BH0tS TSl X 18,200 18,200 0
307 QI2t01 ™ 18,200 18,200 0
04 QI2FSHALAIE B &= 18,200 18,200 0
OHMI153 WHAMMEISE L dSANE E2INE
of 26,000,000& *70/100 18,200
AEI L 25 MEHsUs XA 124,600 116,620 7,980
307 212t01 & 124,600 116,620 7,980
04 QIZHSHAFAIE 2 X 124,600 116,620 7,980
OANHEI & 24E MeHsUHI
178,000, 000& 70/ 100 124,600
MEH=E Zsel 0™ K& 42,000 42,000 0
307 212t01 & 42,000 42,000 0
04 QIZHSHAFAIE 2 X 42,000 42,000 0
OME=s ZatelOd 60,000, 0002 70/ 100 42,000
HAok gHAEL X =H XS 18,200 18,200 0
307 212t01 & 18,200 18,200 0
04 QIZHSHAFAIE 2 X 18,200 18,200 0




AN HEX 0
Hi: JRMLSH (L2 /HUS)
el MEHSAE (&t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZget AR =X
26,000,000% *70/100 18,200
O B= 2 EUE 57202 N2 18,200 18,200 0
307 gl2tol & 18,200 18,200 0
04 DIZHHALALSE E X 18,200 18,200 0
OYYoil 32 SEHY =203
26,000, 000& *70/100 18,200
SgEY =2 RE0HE XA 14,000 14,000 0
307 21201 A 14,000 14,000
04 QIZFHALAIR B & 14,000 14,000 0
Os2Ed =2 2016 AEH 2+EXE &
e 20,000,000& *70/100 14,000
ZSANM=s sHs82d sz XE 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
02016 ZSAM== SHSEAS MU
10,000, 000& %70/ 100 7,000
dA4SEC AU S2U38 NA(BX) 48,000 33,000 15,000
= 24,000
Al 24,000
307 glz2+ol & 48,000 33,000 15,000
< 24,000
Al 24,000
04 QIZFHALAIH B = 48,000 33,000 15,000
02016 Zo4=x ABUHE=AUzE
48,000,000& 48,000
< 24,000
Al 24,000
MEHNSAESHLSHRNE(BX) 25,920 21,600 4,320
< 6,840
Al 19,080
307 g1+l & 25,920 21,600 4,320
< 6,840
Al 19,080
02 It AAHEE 25,920 21,600 4,320
OHEMsSNEXNnSH X3 25,920,000 25,920
< 6,840
Al 19,080
SAZANE ZEAIR Z2DI0E K& 39,900 39,900 0
307 21201 A 39,900 39,900 0
04 QIZFHALAIH B = 39,900 39,900 0
OHM21al a2 At EZEAIR Z2IIHE
57,000,000& 70/ 100 39,900
— 4 —




M MEXE 0
M ML (BL2Z/HS)
X

& MBS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SUSR 03taiol He 299 10,000 0 10,000

307 gl2tol & 10,000 0 10,000

02 It M AHE L 10,000 0 10,000

O&BULS otatdiol e 2g X&

10,000, 000& 10,000

HE2H=EsH 6,422,707 5,435,475 987,232
< 440,000
Al 5,982,707

A¥2=sEIIR(HYE) 2¢ 2,761,707 2,734,475 27,232
< 440,000
Al 2,321,707

301 LB A F 2,683,707 2,734,475 A 50,768
< 440,000
Al 2,243,707

o=t - 2SES243 2,683,707 2,734,475 A 50,768
OXEEAN HE2SHIR Jles 1,175,592
-4 = 3,282,200 3« 12& 118,160
-3l 2,939,400 x4H x 123 141,092
- (S)s 3,341,800 x9H x12& 360,915
< 155,975
Al 204,940
-Hd==(A)= 2,407 ,900& x11H« 123 317,843
S 155,975
Al 161,868
-&==(B)= 2,063,900 x7H x12& 173,368
< 89,625
Al 83,743
-d==(0)= 1,783,700 x3H 123 64,214
< 38,425
Al 25,789
OZdz2=+¢ 137,516
4= 3,282,200 *3H x80%*23] 15,755
-2 Xl 2,939,400& *4H x80%*23| 18,813
-H==(5)= 3,341,800& x9H x70%*23] 42,107
(A= 2,407,900& 11 x70%*23| 37,082
-&==(B)= 2,063,900 +7H x60%*23] 17,337
-H=2=(0)= 1,783,700 »3F x60%*23| 6,422
OJX&E=E 6,000
—bH < Xt 40,0003 x5H =128 2,400
-JIEHDHE 20,0003 x10Y¥ «128 2,400
-JIEtDFS (A 014) 100,000& 1H 128 1,200
O=cl=44| 132,000
s =] 74,280
I === DN 250,000 x7H 128 21,000

_5_




2N
X ZH -
L= B

el

2 ot

g4 (2L 22 /M=)
SSAM

=Eo

M- BB (BH) - NEAY - BaS ofl &t o SSa HDE2
HdE=(E3,A2) 155,000& x20 x12& 37,200
&2 (83) 140,000& x7H ~12& 11,760
H4=(C3) 120,000& *3H x12& 4,320
- Al 130,000& x37H x12& 57,720
Osdad 128,400
2= ,32X 150,000& *7H x12& 12,600
-4 (52) 500,000 x9H x12& 54,000
-4 (A2) 300,000& 11X «12& 39,600
-8 4(B2) 200,000& x7H x12& 16,800
-&d&(C2) 150,000& *3H »12& 5,400
OXNEL™(2Ss,2X) 400,000& x7H x12& 33,600
OGP FER:E=, 463,990 x3H 43| 5,568
O=2JExE 1,500,000& »8H ~12& 144,000
OY & FIHY| 115,063
e 3,140,300& *3H x60%*23] 11,306
-3 X 2,685, 100 x4 x60%*23] 12,889
-d4(5)2 3,270,700& *9H x60%*23| 35,324
-d4=(A)2 2,407,900 x11H x60%*23] 31,785
-&d44(B)2 2,063,900 7Y x60%*23] 17,337
-d4(C)2 1,783,700& »3H *60%*23] 6,422
O e g4 ZAZ 80,000,000 80,000
@)= RS 3,270,700& »8YH x5 4 130,828
O=2HUz =& A 40,000, 000& 40,000
O=2U 2= ta =8 Al
60,000& *37H x4 x63] 53,280
OXFE2sZIR @& MK =&
80,000& *37H x20 x23| 118,400
Ox&2sdIIe ¢ 8= 4|
30,000& *37H x7 x53] 38,850
OadE &0 2Z #HAI29H| 3,000,000& 3,000
OXNE2SHIIE ¢4 MdEE It
350,000& 37X 12,950
OXFSSZINE AWII Y| 5,000
-2 E 3,000,000& *13] 3,000
-FAE 2,000,000& x13] 2,000
O g9 25 &0l
60,000& *3H 3L x4 3| 2,160
OZAE2SHIIE(REE) LI=(&H) 2L 21,620
-HEs 200,000 x16H *13] 3,200
-1k 9t 200,000 x169H ~13] 3,200
- = 180,000& *x16Y 13| 2,880
-HEsxXE=E 150,000& *14H 13| 2,100
-c5 230,000& x16Y *23| 7,360




AN HEX 0
Hi: JRMLSH (L2 /HUS)
g4 dEHEsd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-2 3t 180,000& 16 x 13| 2,880
OXNE2SZIR(=&EE) I=s(&H) 7 14,800
-H=s= 200,000& x10¥8 13 2,000
-1t 2t 200,000& x10H *13] 2,000
-g= 180,000& »10H x 13| 1,800
-&dJ= 100,000 »8H x 13| 800
-=E= 200,000& x8H x23| 3,200
-2 23 180,000& »10H x 13l 1,800
-Et0l = 100,000 & *8H x2E +23| 3,200
OXF2sZIR(s4E) IIS(&EH) 7 18,160
-H=E= 200,000& x118 +13] 2,200
-0k 3t 200,000& x 118 13 2,200
-g8= 180,000& » 11 »23| 3,960
-2 L& (4,5t) 50,0003 x8H x23| 800
-EtOI = 57,5003 +8H x2& 23| 1,840
-3 180,000 » 11X »23| 3,960
-A 0013 200,000& x8H #23| 3,200
OXFI2SHIIR 29l 57,600
-5, S48 I8
1,500,000 x3E x12& 54,000
-0 EZ 300,000& »12& 3,600
ONFYRSHIL d40 g XYl
250,000 »3CH =12 9,000
OXF2sZIR BS23(HAM &)
2,000,0002 *128 24,000
ONFRSSHIIL M40 52 U HET2IH
3,000,000& 3,000
OXF2SAIR ¢ =4 | 22l
5,000,000& 5,000
Ot FH=7e & FXH 18,320
-S4&8 ZH LA 6,400,000& 6,400
-2¥E FIIE 43 4225 WA
4,000,000& 4,000
-ZHE DHEE RAH(FLR)
1,600 *B6Al 2t%2002! =1 CH 1,920
~MolEl o O OE, HOIE S
500,000& »12& 6,000
Of=&d=Z 4l 150,000, 000& 150,000
405 THobH S| 78,000 0 78,000
01 HatH ESFH S 78,000 0 78,000
OANE HNE2SEIR =L 2EXH(15
ols) 78,000,000 = 1CH 78,000
ZEANH=Es =29 2,457,600 2,207,600 250,000
307 21201 A 2,457,600 2,207,600 250,000




M HEXH B
Hi: JRMLSH (L2 /HUS)
oelr HEHSSA CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 1,050,000 800,000 250,000
OZJold &4 XAl 450,000,000& 450,000
OXgHEss4 X2 600,000,000 600,000
03 BIAHNHE2IHIEES 1,407,600 1,407,600 0
OZFANHES H4HERL 1,273,600, 000& 1,273,600
OXgANN=a 24l 134,000, 000& 134,000
0o M= =4 143,400 133,400 10,000
301 et A3z 33,400 33,400 0
09 SAEHIE &S 33,400 33,400 0
Od= Zoe MEM=sUa &t
60,0003 20 #23| 2,400
OFO0HQl off &A= F It 2,500,000& 2,500
OZ4=E ZMHAMSUE &It 28,500,000 28,500
307 21201 A 110,000 100,000 10,000
03 A EE2LHIES 110,000 100,000 10,000
OFMeIX=a 294l 110,000, 000& 110,000
StuHsE =4 110,000 110,000 0
307 gl2tol & 90,000 90,000 0
02 IZtE M AHE L 90,000 90,000 0
O2016ESAIEI L DT = - = -0 1
AAgD 90,000,000& 90,000
308 MtXIEHSOIH 20,000 20,000 0
08 W= 20ICHetE 20,000 20,000 0
OM=sgM 4 E&H XA 20,000, 000& 20,000
EZSANUNSHE 700,000 0 700,000
201 ¢4l 13,000 0 13,000
01 At 2t 2l 13,000 0 13,000
O1.get==2Hl 13,000
-M128] ZEAISMSHE LEt=EH|
13,000, 000& 13,000
301 et a = 522,000 0 522,000
09 &AL HI B A S 522,000 0 522,000
OHM128l ZALUMSUHe sHS It BH|
18,000,000& 290 S S 522,000
307 21201 A 165,000 0 165,000
04 QIZFHALAIH B = 165,000 0 165,000
OXM128 LSAISM=UE Mzl 2l
165,000, 000& 165,000
Fa=EENSsUHE &8 A XA 250,000 250,000 0
307 glz2+ol & 250,000 250,000 0




M MSX A
M MSULESH(2ILAZ/HS)
ool HEHSS4 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 QIZHSHAFAIE 2 X 250,000 250,000 0
02016 FA=SCAM=US &8 FH|
250,000,000& 250,000
HEAEZX FH 857,808 489,860 367,948
HYAELX 22H 534,308 31,660 502,648
101 2124 1| 12,910 0 12,910
04 JI2ZtHIZ2E2XNHEE 12,910 0 12,910
OLSAQLEAZE AMES22 12,910
bl 48,2403 19 240 11,578
A28 JI282E23 11,578,000& *11.5% 1,332
201 et A | 31,870 28,420 3,450
01 AFR2 22l Yl 10,270 9,020 1,250
Of. Y=g 2,750
“HYATEAL ABAEH 1,500,0009 1,500
SMYHITES UANA L 2B2 S0
50& *5& 5, 0000H 1,250
O5.= &t 2,520
—HYATZX AL2EX ZA
7,000 x2H x152 x12& 2,520
O6. & Xtz 5,000
~HESHAAIXOIIIMOO0 29 AIRA Xt
5,000,000 5,000
02 352494l 21,600 19,400 2,200
O1.33222HA 15,600
SIEQEHSEE N4 BEs 6,000,000 6,000
-RQE(ZYnta) 89 €2 3,000,000 3,000
SEISIQEAZRH Mg 200,000& x12& 2,400
SEEQEAZRHE MAxEE 200,000& ~12& 2,400
SIS QENHIRHE coty AIEE
150,000& = 12& 1,800
O3. A& &Hl = Xibl 4,000
-RE S22l 4,000,000 4,000
O4. Xt & & eyl 2,000
-RE SE0 2,000,000 2,000
202 (4] 3,600 3,240 360
01 2L Y| 3,600 3,240 360
OfYAIL= HRE=XI04H|
60,0003 2H x32 *103] 3,600
401 Al HI L 200 460,828 0 460,828
01 Al &bl 460,000 0 460,000
S0l X 230,000,000& *2H 2~ 460,000
03 Al& 201l 828 0 828




2M: X
HH: HSA

e =4 (2 &HH)
5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
Osggol ax1 AlE=20dl
230,000,000 x0.72/100%50%< & 2+> 828
AH&HF S HI 25,100 0 25,100
01 XA 2 ZF S H| 25,100 0 25,100
OdeANg 2,500, 000& «2LH 5,000
OKE 250,000& x20d 5,000
oxlgt 50,000& x20d 1,000
OFRY X 70,000& 304 2,100
O REIHt 400,000 304 12,000
ISHAIZH =2 ECIOIEs2UHa N 39,900 0 39,900
307 2iz2tol A 39,900 0 39,900
04 SIZ2ISHAAISH E & 39,900 0 39,900
OLXSAIZD| 82 E2IOIHSsE WS XA
57,000, 0002 *70/100 39,900
AJig X&A 30,100 18,200 11,900
oIz2tol A 30,100 18,200 11,900
DIZ2FSHAFALRY E X 30,100 18,200 11,900
Obttt=g U a 43,000,000& *70/100 30,100
= A M=2280U3 X 40,000 0 40,000
oIz2tol A 40,000 0 40,000
DIZ2FSHAFALE E X 40,000 0 40,000
OEMLUAMNE SHUS 40,000,000 40,000
=2 $AQEHI0| 3l 31,500 0 31,500
307 gizto| A 31,500 0 31,500
04 CIZ2tSHALALS B X 31,500 0 31,500
Od=2 £=AMAQLEHI0IHE K&
45,000,0002 x70/100 31,500
NHEZH M=2LEWUE A& 150,000 0 150,000
oIz2tol A 150,000 0 150,000
DIZFSHAFALE E X 150,000 0 150,000
O20MHAE2E =2 QLEUI
150,000,000 150,000
ZHel vt 3 32,000 0 32,000
oIz2tol A 32,000 0 32,000
DIZ2FSHAFAL E X 32,000 0 32,000
OYaor HHel "ith=d sl
45,714,000 *70/100 32,000
ALX NE 1,090,680 952,380 138,300
= 24,000
Al 1,066,680




M MEXE 0
M ML (BL2Z/HS)

¢elr U AZE NE (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
d=2R2 Hsla HxE 2 | 21,660 21,660 0
201 £B-2d| 18,420 18,420 0
01 At 22l 6,420 6,420 0
O1.Let==ZH| 2,700
~AZX0OE Lt 2,700,000 2,700
O5.2&Hl 2,520
-SH0E ¥ =0 MY S4
7,000 «3F =102 «12& 2,520
06.9xt= 1,200
243 MESEA NE dEMAMsI SX
100,000 = 1CH*12& 1,200
03 A2 S HI 12,000 12,000 0
OAE H=2C2 sl #A2E
12,000, 000& 12,000
202 4l 3,240 3,240 0
01 S LHOYI 3,240 3,240 0
AEH=USE | L FRFE 0l
60,000 *3H *32! 63| 3,240
ZIINELE=NIE QLE = BHEQEUS X2 32,200 32,200 0
307 21201 A 32,200 32,200 0
04 QIZFHALAIH B = 32,200 32,200 0
OZSINELEHIE LE &2 BHELUEHN
3 46,000,000% *70/100 32,200
SAOALEEE A= BtSOs & 24,000 17,500 6,500
307 glz2+ol & 24,000 17,500 6,500
04 QIZFHALAIH E = 24,000 17,500 6,500
OMB8al FLRAIEH &= HISUHS
34,285,000& x70/100 24,000
ZEAEH 82 01 s &€ =HME nsd X 17,010 17,010 0
%
307 21201 A 17,010 17,010 0
04 QIZFHALAIH B & 17,010 17,010 0
OZSAIZH &IEINEUs £ =M WF
o 24,300, 000& 70/ 100 17,010
EZSANEI ANEUHE =2 7203 XA 17,010 17,010 0
307 glz2+ol & 17,010 17,010 0
04 QIZFHALAIH B = 17,010 17,010 0
OHM9al ZEAEI AMEUHE 82 FFUH3
24,300,000& %70/ 100 17,010
SYIH ZgoiHOt2E el X2 101,500 126,000 224,500
307 glz2tol & 101,500 126,000 A24,500




M MEXE 0

=
M ML (BL2Z/HS)

@2 FUHe AXZX DE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 101,500 126,000 A24,500
OHM163 SLII2 ZatoiHDetEU S
145,000,000& x70/100 101,500
LHOA A AP & ZSAIZH 24t Usl K& 30,100 21,000 9,100
307 glz2tol & 30,100 21,000 9,100
04 DIZHHALALSE E X 30,100 21,000 9,100
OLHA L fhotH 2 O3 EESAIEH M4}
=l 43,000, 000& *70/10 30,100

BAadE =203 XA 50,400 42,000 8,400

307 QI2+0| & 50,400 42,000 8,400
04 DIZFEHALALRI E X 50,400 42,000 8,400
020161 AABYI| B2 S2E =203
72.,000,0002! *70/ 100 50,400
AEXAH) BHE X 558,000 555,000 3,000
201 YLt A H| 450,000 450,000 0
01 At 22t 450,000 450,000 0
OAZXZ S5t AIFES 450,000,000 450,000
307 Q12+0| & 108,000 105,000 3,000
02 QIZtH A AL I B X 108,000 105,000 3,000
OZ=20f2ZE)| 2435 X 100,000,000 100,000
OESBALYA AQUNIHE X
8,000,000 8,000
ANEUE =205 KN(2X) 48,000 33,000 15,000
= 24,000
Al 24,000
307 QI2+0| ® 48,000 33,000 15,000
= 24,000
Al 24,000
04 DIZHEHANAN RS & X 48,000 33,000 15,000
02016 ZAST XNEMYE =203
48,000,000 48,000
= 24,000
Al 24,000
07 22 Q=205 9,800 0 9,800
307 Q12+0| ® 9,800 0 9,800
04 DIZFSHALALR X 9,800 0 9,800
OlT. 22 Q=23
14,000,0002! *70/ 100 9,800
SIHESH dXSd SXE X 15,000 0 15,000
201 B2 A H| 15,000 0 15,000
03 A2 H 15,000 0 15,000




2N
X ZH -
L= B

el

5 - 4
M- B (B H) - NSAY - B %@ﬁ 2t
ObdtH .sH &XZ2 Sxg X

15,000,000& 15,000
28I K& 9,800 9,800
07 212t0| & 9,800 9,800
04 SIZ2HSHAAISH E & 9,800 9,800
O&= 31Uz 14,000,000 x70/100 9,800
H203 ZE2E0HLASAE SEUs s3203 24,000 24,000
307 2iz2to| A 24,000 24,000
04 QIZ2tSHAFAFS B X 24,000 24,000
OHM203 HA=0HY D 2EUE =20
3| 34,285,0002 *70/100 24,000
SHLASAIED] Z&te|D o2 3 15,600 15,600
07 212t0] & 15,600 15,600
04 SIZ2ISHAAISH E & 15,600 15,600
02016 Z2S0HL Al | Zste|l oF 3l
22,285,000% x70/100 15,600
SEYENIIE 8= & FEF2U3 24,000 24,000
07 2I12t0| & 24,000 24,000
04 SIZ2ISHAAISH E X 24,000 24,000
02016 L& =Y S M=2LLEBEXE F
2043l 34,285,000& x70/100 24,000
S8 A= HIEQE U3 15,600 15,600
07 212t0| & 15,600 15,600
04 CIZ2tSHALALS B X 15,600 15,600
02016 2=z 01 Y BHESIE [H3
22,285,000 70/ 100 15,600
M3s =0MEys d=2 24 23 15,600 15,600
307 QI2t0| & 15,600 15,600
04 CIZ2tSHALALS B = 15,600 15,600
OHM33 =200MeHs M= 203
22,285,000 70/ 100 15,600
K73 ZA0HL A2 AHE 2488 SAU3 11,700 11,700
307 2iz2to| A 11,700 11,700
04 DIZHEHALAFRI B & 11,700 11,700
OHM73 &0 2l =22ES A
CHal 16,714,0002 x70/100 11,700
M463] MEH= JtUlol& HO{Ll BH2CH 3 49,700 49,700
307 2Iz2to| & 49,700 49,700
04 SIZ2ISHAAISH E & 49,700 49,700




M MEXE 0
M ML (BL2Z/HS)

@2 FUHe AXZX DE (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHN46s M= JtUlolE 8=30HHLI B2 CTH
3 71,000, 000% *70/100 49,700
HMEAE =4 2 22l 15,737,192 5,684,454 10,052,738
J| 1,400,000
< 70,000
Al 14,267,192
SHEANE &5 2,541,167 1,030,809 1,510,358
201 Let249] 20,000 15,000 5,000
01 At 22l 20,000 15,000 5,000
O6.8xt=z 20,000
-HE2sE URE 20,000,000 20,000
401 AIEHI L 201 2,502,497 1,015,809 1,486,688
01 A& HI 2,498,000 1,005,000 1,493,000
OYHIANMSAE SANEERES
478,000,000 =14l 478,000
OZESAAE EXNE & 350,000,000 =14l 350,000
OYES MEMSAL HSTA
600,000,000 =14 600,000
OZgs HUAE E=3 At 50,000,000 14! 50,000
O&ctH 2 OFA23I1+ AXIZ A
20,000,000 =14 20,000
OS0lYEH(EEE) =4 500,000,000 *14A! 500,000
OANSIEEE MEI A" JHa
90,000,000& =14l 90,000
Ods=2sd atda &£X
50,000,000& =14 50,000
Ogd2d IMasDd B4 30,000,000& » 14! 30,000
O=diH HOIE=ZEH B+ 10,000, 000& * 14 10,000
OJ1=2 =22 ofA2sI17 &AX
15,000, 000& 14 15,000
OFREX =32l o231 &X
15,000, 000& 14 15,000
OgY WHel HoE=2E st&E4a &X
40,000,000& * 14 40,000
O&aol Z3stel OFA2sI17 &X
18,000, 000& * 14 18,000
O&dl Fel OkA23I17 &X
17,000, 000& 14 17,000
Osts OrA23217 &X 15,000,000 » 14 15,000
OAMEHAE iz S22 2=
200,000,000 =14 200,000
03 A& S THHI 4,497 1,809 2,688
O3SHSALES ANE2UHI
2,498,000, 000% 0.36/100%50%< & 2> 4,497
405 RHoHF S HI 18,670 0 18,670




M MEXE 0

M MSULESH(2ILAZ/HS)
S MAE 4 2 2 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 At =S FSHI 18,670 0 18,670
OMERHE AIRAE JIF 7,170
AR E BEH 1,350,000& = 1CH 1,350
—ZH A 250,000& = 1CH 250
-N & 150,000& = 1CH 150
-ANRE 2k 200, 000& = 10H 200
I 250,000& =24 500
-3 s &Xt 200, 000& =14 200
-319E oKt 80, 000& *4 4 320
==l 2,100,000& *2CH 4,200
OMEO7E Ot2& 2218 JAH 11,500
LS Ed 7,000,000& =1CH 7,000
-fteeace sgEE2| 1,000,000& = 1CH 1,000
-0I2e2els =AM 500, 0003 = 1CH 500
QI Z XL EMAOI 3,000,000& =1CH 3,000
HMEAE 72t 168, 106 173,317 AN5,211
101 @121l 3,874 3,585 289
04 JI2ZtH 22 XNHEE =+ 3,874 3,585 289
O33HMEAE M=z 2 &C2D 3,874
-0l | 48,2403 x6H x4 2 x33| 3,474
A28 J|28<32 3,474,000 *x11.5% 400
201 2yt 2 Y| 44,412 46,072 A 1,660
01 AFR2t2ldl 6,560 5,220 1,340
O1.28t=2H| 3,200
Al &8 2te] 2Bt ZH| 2,000,000& 2,000
“AMIOHSFAIEE AANHA 01 1,200,000 1,200
O5.= &l 3,360
—HsSAE2e SR2FE S 4
7,000 x4H 10 x12& 3,360
02 33294l 37,852 40,852 A 3,000
O1.383224HA 34,620
MRS 3,600
T ENMY HesE 200,000& «12& 2,400
lHAZx(HIXIE22) JIE
100,000& = 12& 1,200
-MotEE AIEE 200,000& x12& 2,400
- 2ER3 (e 300& x1,400= 420
SESHER JIe=2 2,000,000& x12& 24,000
OREIT FESHAHYRH
4,200,000 4,200
O3. A& &Hl = Xibl 3,232
—ASKXH(AUHAEE) 6112 *1,846m 1,128
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2N
PHSMYSH (28

el

X ZH
S =

=X

AL =4 2 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—MEW X2 26,300,000 *8% 2,104
202 044l 4,320 2,160 2,160
01 = LH 4 1l 4,320 2,160 2,160
OMSsAg2e R=AH
60,0003 *4H 32 63| 4,320
206 M= Hl 2,500 2,500 0
01 MHZ 8l 2,500 2,500 0
OMSANEE ExMME(2Y S)7Y
100, 000 *5JH4 500
O8dAEX E=MEH S 2,000,000& 2,000
307 21201 A 43,000 43,000 0
05 BIZERI & 3 43,000 43,000 0
OXESAHAIRZ QL& 2Y  43,000,000& 43,000
401 A& HIZ 201 Y] 70,000 70,000 0
01 A& HI 70,000 70,000 0
OMSAE sX2e] 70,000,000 =14l 70,000
HMSALEESNA(BX) 240,900 501,890 A 260,990
< 70,000
Al 170,900
401 Al HIZ 201 8] 240,900 501,890 A 260,990
< 70,000
Al 170,900
01 A& HI 240,000 500,000 A 260,000
OFE2sd JIs2Z3 A 200,000,000 *14) 200,000
S 50,000
Al 150,000
O2EE &el HOESH EX3A
40,000,000& =14 40,000
< 20,000
Al 20,000
03 AlE 2 THHI 900 1,890 A 990
OBYSER JSBATMN ALY
200,000,000 0.72/100%50%<Z& 2> 720
O2EE dcl HOIESE EXSA AIER I
40,000, 000& *0.90/100%50%< & 2> 180
g IUMSUHHAZY (EX) 5,406,313 0 5,406,313
J| 1,400,000
Al 4,006,313
401 Al HI K 201 I 5,406,313 0 5,406,313
J| 1,400,000
Al 4,006,313
01 A& HI 5,050,000 0 5,050,000
OXEZCUNSHEH A& 5,050,000,000& x14) 5,050,000
J| 1,400,000




2N

X ZH
S =

el

M= XAt
PHSMgSd (RS AE/AR)
HEAE =8 & 22

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Al 3,650,000
02 Zeldl 350,000 0 350,000
O&E2VUNSIHY HE 22l
350,000,000& * 14 350,000
03 Al& 201l 6,313 0 6,313
OS2V SHE HE A2
5,050,000, 000 *0.25/100%50%< & 2> 6,313
TS HES=Z2A 4,005,279 380,000 3,625,279
401 Al HI L 2 0HHI 4,005,279 380,000 3,625,279
01 A& HI 3,910,000 380,000 3,530,000
OZEM=2 HES=Z A 3,910,000,000& * 14! 3,910,000
02 2teltl 90,000 0 90,000
O HE=S AL 22l
90,000, 000& 14! 90,000
03 Al&E 201 Y] 5,279 0 5,279
OZEMEE HES=S A AIE20HI
3,910,000,000€ *0.27/100%50%< & 2+> 5,279
AMEze2Y B2 (HSAIYE) 3,375,427 3,598,438 N223,011
309 ME= 3,259,027 3,379,568 N 120,541
01 SAt- SHIANNEZ 3,259,027 3,379,568 N 120,541
OA&H2SE MSAILE SHNEEZ 3,259,027
-SEEIHE 787,389,000& 787,389
-0 =HH 240,412 ,000& 240,412
A= HE 1,310,461,000& 1,310,461
-ANS =& 284,964,000& 284,964
=l O NS 567,902,000& 567,902
-0tol gt 67,899,000 67,899
404 SMNSHII2EEZ2 116,400 218,870 N 102,470
01 SAt- SHA=2NES 116,400 218,870 N 102,470
OAEZ2SE MSAILE UHE2HE2 116,400
-ESEEIHE 28,500,000& 28,500
-= X HEH 29,500,000& 29,500
A= HE 21,650,000& 21,650
A ESEH 13,750,000& 13,750
—ZE0OFP & 21,800,000& 21,800
-0tol &t 1,200,000& 1,200
HESHAL (MK ) (IIEH/DIE) 80,170 80,334 N 164
OlHSHHI(MS X&) 30,420 31,784 N 1,364
MFolAAY| 30,420 31,784 A 1,364
101 @121l 30,420 31,784 AN 1,364
02 JIEt& 2% 30,420 31,784 A 1,364




ro 02
JE 0X K0
o Ho >

ni

=

02 02 o

ZHI(M=S X&) (I1EHIIE
I (M= X & 1)

= _ — d =
CB SR (B) - KIRAY - BES Ol &+ o4 e
OAMLHEHAINHM('CH S 2AKELE) 30,420
-3 37,927,000& 12 %24/40 22,757
-Al2Hel 2 6,003 «1H+10Al 2t<123 721
-ItExd 960
b < 40,0003 »1H =128 480
JIEF 20,0003 x2H 128 480
s R=ge= ] 140,000 * 12 « 128 %24/40 1,008
- A A 130,000& «1H 128 1,560
- JtE &I
1,896, 3503 x84%*86%+1/30*1/4.8%x29 Al 2+ 276
-AHEE JI2RE3 27,286,000& *11.5% 3,138
2l (M=SX ) 49,750
f A2 4,450
01 B2 Sl 4,450
01 At 22l 4,450
ORN2Y LEt=& 3,540,000& 3,540
ORAN2YE =&l 910,000& 910
AR FE N 42,300
202 oddl 42,300
01 SLHOYI 42,300
OFYg2FIA 20,0003 «15H 11 «128 39,600
OL=0HL2S I Kbl
20,0003 x15H 32 «3& 2,700
22 F=4H 3,000
203 ¥ S =&l 3,000
04 FANSEHE=LH| 3,000
ORMSIHS =AY (B2 :13Y)
250,000 128 3,000




